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Exercise 1 LetV bea vector space over a fieldF, and let X1, Xo be elements of V. Recall the definition.:
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Exercise 2 What is the dimension of the vector space of all 4 X 4 diagonal matrices ? Lq

Exercise 3 Provide a basis for the set of 2 X 2 symmetric matrices.
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Exercise 4 For whzch value(s) of k € R are the following vectors of R3 linearly independent ?
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Exercise 5 For a matriz A = (a;;) € M2(R) one writes Tr(A) =an + 022 for the sum of the elements
of its diagonal. We then deﬁne

= {A € Ma(R) | Tr(A4) =0},
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